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SEOGND STANDARD PARALLEL SOUTH, through RANGE 47 EAST,

40,0

54,00

7% .00

79,90

4,25

40,

(@3

By 1st.set,40,09 chs.,
. By 8nd.set, 39,91 chs.,the mean of whiech is
Set a basalt stone, 18x14x4 ins.,12 ins.in the ground, for

standard 4 sec.cor.,marked S ¢ L1 on N,face,and raise a

| mound of stone,2 ft.base,1; ft,high,N.of cow,

Pits impracticable,

Hollow, 150 ft.deep,course 9,
Ascend,

Ridge, bezrs N,and S,
Descend.,

Hollow,50 ft.deep,course S.

Difference between measurerent of 80.00 chs.,hy two sets|
of.chainmen is 8 1lks.,vosition of middle point

By 1st,set,79.,96 chs.,

By Znd.set,80.04 chs,,the mean of which is
Set a basalt stone,20x12x8 ins.,15 ins.in the ground, for|

-

standard cor,of secs.31 and.32,marked S C on N,,with 5

| grooves on E.and 1 groove on W, faces,and raise a mound

of stone,? ft.base,1ly; ft.high,N,.of cor,
Pits impracticable,

Land,mountainous,

‘SOil,TOCkY,STﬁ.&ﬂd 4th,.tate,

No timber.

Mountainous land on 80,02 cha,

West,on. S,Bdy.of sec.31l.

Ascend. along rocky and broken south sloupe,over

mountainous land.,

Ridge,bears N.,and S.
Descend over hroken seuth slove.
Difference between measurement of 4C,00 chs.,by two sets
of‘dhainwen is 6 1lks.,,rosition of middle point
_Bj lst.set,40,03 chs.,
By 2nd.set,39.97 chs.,the mean of Which is

Set a basalt stone,20x12x10 ins.,15 ins,.in the ground, for




